(30) 3. Write out the node equations for each circuit. Simplify but do NOT solve (whew!).
For (a): 2 equations in 2 unknowns vq,v,. For (b) & (¢): 1 equation in 1 unknown v.
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EECS 210 SOLUTIONS TO EXAM #1 (9:30)  Winter 2001
aits [Ta. (i) 290 (ii) 200 (ifi) 3 (iv) 7 (v) 14m. (1b.)(i) 1 (ii) 1 (iii) 3 and 5.
oma A 1c. cos(27t) + 20 cos(6mt) since the last term at 5 Hz is filtered out. THoutier
MITED 14 cos(2mt — -10°) + 2 cos(67t — 30°) + 4 cos(10mt — 50°) since -20dB=0.1.
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GIFT [Qa Voltage divider— (12V) 1(}2(529 = 8V.
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“IT8O: (14)2(80) = 8W. 1200 :ZAVS = (24)2(120) = 48W . ArEAwRTE BRRR: Paip?

16V: (16V)(1A) = 16W. 3A :(24V)(—3A) = —72W. 8+48+16-72=0.
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— 3V1 — Vz = —24; -3V} + 5v2 = +168 = V; =4V, V2 = 36V. |\ A % s any
3b. ¥ VS 4 V=20 1, 11V — 16 =72 — V = 8V (seALic Pric’)
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